


𝑄𝑚𝑎𝑘𝑠

𝑄ℎ 150 𝑙/𝑝𝑒 ∙ 𝑑
𝑓𝑚𝑎𝑘𝑠 ∙ 𝑘𝑚𝑎𝑘𝑠

𝑄𝑎 40 𝑙/𝑝𝑒 ∙ 𝑑
𝑄𝑙𝑒𝑘𝑘 200 𝑙/𝑝𝑒 ∙ 𝑑

𝑄𝑚𝑎𝑘𝑠 =
(𝑃 ∙ 𝑄ℎ ∙ 𝑀) + (𝑃 ∙ 𝑄𝑎 ∙ 3) + (𝑃 ∙ 𝑄𝑙𝑒𝑘𝑘)

24 ∙ 60 ∙ 60
=

(265 ∙ 150 ∙ 6,2) + (61 ∙ 40 ∙ 3) + (265 ∙ 200)

24 ∙ 60 ∙ 60
= 3,6 𝑙/𝑠

𝑄𝑚𝑎𝑘𝑠,𝑆

100 𝑙/𝑠𝑡𝑜𝑙 ∙ 𝑑
150 𝑙/𝑝𝑒 ∙ 𝑑

𝑓𝑚𝑎𝑘𝑠 ∙ 𝑘𝑚𝑎𝑘𝑠

𝑄𝑚𝑎𝑘𝑠,𝑆 =
(𝑃 ∙ 𝑄ℎ ∙ 𝑀) + (𝐴𝑛𝑡𝑎𝑙𝑙 𝑠𝑡𝑜𝑙𝑒𝑟 ∙ 𝑄𝑎 ∙ 2)

24 ∙ 60 ∙ 60
=

(15 ∙ 150 ∙ 10) + (100 ∙ 100 ∙ 2)

24 ∙ 60 ∙ 60
= 0,5 𝑙/𝑠



𝑄𝑑𝑖𝑚

40 𝑝𝑒 ∙ 200 𝑙 𝑝𝑒⁄ ∙ 𝑑 = 8000 𝑙 = 8 𝑚3

8000 𝑙 ∙  
18 𝑡

24 𝑡
= 6000 𝑙 = 6 𝑚3

11

12
∙ 40 𝑝𝑒 ∙ 250 𝑙 𝑝𝑒 ∙ å𝑟⁄  = 9167 𝑙 = 9,2 𝑚3

6 𝑚3 + 9,2 𝑚3 = 15,2 𝑚3 





 



https://www.va-blad.no/wp-content/uploads/2015/05/Blad-115_08.02.16.pdf
https://www.pipelife.no/snarveier/beregningsprogrammer/kapasitetsberegning-delfylt-roerledning.html
https://skoleporten.udir.no/oversikt/oversikt/grunnskole/husoey-skole-975285405

